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QUESTION 1

An administrator is updating private keys used for SSL encryption from 1024 to 2048 bits. Which possible effect should
the administrator consider when performing this activity? 

A. The larger Key size will increase processing requirements 

B. Some hardware will NOT support the 2048 key 

C. Some certificate authorities will NOT support the 2048 key 

D. The larger key sire will increase private key installation complexity 

Correct Answer: A 

 

QUESTION 2

Which protocol Authenticates network traffic between hosts end without encryption? 

A. PPTP 

B. GRE 

C. IPSec AH 

D. iPSec ESP 

Correct Answer: C 

https//developer.ibmxom/answers.questions/37253/what-is-the-difference-between-the-ah-and-esp-port/ 

 

QUESTION 3

Which action CANNOT be performed by an iRule? 

A. Direct a connection request to a specific pool. 

B. Substitute a server\\'s response with alternate data. 

C. Chang the virtual server\\'s default pool. 

D. Direct a client\\'s request to a pool based on the client\\'s browser\\'s language. 

E. Limit a given client to a set amount of bandwidth. 

F. Discard a client before connecting to a server. 

Correct Answer: C 
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QUESTION 4

FastCache will NOT work with compressed objects. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 5

Which device group type allows a BIG IP system to automatically become active in the event that the current active
system fails? 

A. Sync-active 

B. sync-failover 

C. sync-standby 

D. sync-only 

Correct Answer: B 

The sync-failover group allows for failover of a traffic group. The sycn-only will synchronize ASM profiles and some
other device information but does not deal with traffic groups 
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